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Ambria lives in a neighborhood with three rectangular fields that all have the same area.
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The fields are split into different sections for different sports.

1. Find the area of the field near Ambria’s house. 
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2. This field is divided into two parts. 
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a. Find the area of each part. Record your steps as you go. 

b. Write one numerical expression that will calculate the area based on the work you did in part a.
c. Find a different way to calculate the area of the entire field and write it as one numerical expression.
3. This field is divided into two parts.
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a. Write 2 different numerical expressions that will calculate the area of the entire field.
4.  The field below is split into two parts, but are missing the dimensions.
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a.  Fill in the missing dimensions of the rectangular field whose area can be calculated using the expression 
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b. Write a different numerical expression to calculate the area of the field.  


5. An algebraic expression to represent the area of the rectangle to the right is 
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a. Write two different expressions to represent the area of each rectangle below.


6.  Use the distributive property to re-write each expression. You may want to draw a rectangle to represent the area.

a) 10( a + 7) = ___________

b)    7(x + 3)=________________

c)  x( 3 + 10)= ___________

d)    a(10 + 9)= _______________

e)   -2(x + 10)=_______

f)     3x(x + 10)= ______________
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EXIT SLIP


Who correctly used the distributive property to write an equivalent expression?


Provide evidence to support your answer.
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